Maytag LA210S 06 - TOP COVER\CONSOLE\LID SWITCH

(ALL moDELS

TOP COVER, CONSOLE, LID & SWITCH)

91

2-5635
2-5635L (Almond)

2-11294

2-11726—C X

7S 2-
2-1808 2-11881
2-5058.

2-l(lllli\v

2-14437

= .

1

©

-

o
, '
- T

\/

l261—f\ |
al 2-14987
" *B-4-10635
\1"‘]/ +—2-14813

2-14805 :
= —2-14804
|
z-nna—'—ﬁv
z~n720—, R
\ -

2 3275 3-1548 2-4968 "’"a
= 2-11500—" 'y,
O_ 9-10182—

3-11155

2-5635M (H. Wheat) .

2-12716
2-4445

W 215075

2-12073
1 2-1207 3L (Almond)
\ 2-12703M (H. Wheat)

\\

~] Bleach
2- 7
2-5537L (Almond)
2-5537TM (H. Wheat)
Nonbleach
2-5538
2-5538L (Almond)
2-5538M (H. Wheat)

N N _-2-12716
\\/<
~ .

N

2-5815 (A110-A503)
2-5816 (A210-A610)
2-5818 (A310-A710)
2-5820 (A410-A810)
2-5821 (A208-A510)
2-5915 (Suds Save Harness)

-0 o)
2-11737 3-12140

Maytag Residential Maytag LA210S Washer Parts Parts Diagram 06 - TOP COVER\CONSOLE\LID SWITCH

Item

1
2

13

14
15
16

Click on the part number to view part

Original Part Number Replaced By Status

Y201808
204445

204968

205056
205415
205537L
205635L
205816
205915
210186

211294

204590
279347

Not Available

Not Available

Not Available
3370225

90767

248562

Part Description
Converter
Screw And Fastener Assembly

Plunger And Bracket
Assembly-W

Cord, Power

Switch-Lid

Top Cover-Almond----NA
CONSOLE (ALM)

MAIN WIRE HARNESS
SUDS SAVE HARNESS
Screw

Screw, 8A X 3/8 HeX Washer
Head Tapping

Washer, Bracket To Top Cover
Hinge, Ball Lid
Terminal

Grommet, Cord Part Not Used-


http://www.pwslaundry.com/c-504440-residential-maytag-la210s-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10409525-maytag-y201808-washer-dryer-converter.html
http://www.pwslaundry.com/i-10412610-maytag-204445-washer-dryer-screw-and-fastener-assembly.html
http://www.pwslaundry.com/i-10406241-maytag-204968-washer-plunger-and-bracket-assembly-w.html
http://www.pwslaundry.com/i-10406251-maytag-204590-washer-cord-power.html
http://www.pwslaundry.com/i-10415045-maytag-279347-washer-dryer-switch-lid.html
http://www.pwslaundry.com/i-10402076-maytag-205537l-washer-top-cover-almond-na.html
http://www.pwslaundry.com/i-10414301-maytag-3370225-washer-dryer-screw.html
http://www.pwslaundry.com/i-10412063-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10414058-maytag-211500-washer-dryer-washer-bracket-to-top-cover.html
http://www.pwslaundry.com/i-10406329-maytag-211726-washer-hinge-ball-lid.html
http://www.pwslaundry.com/i-10415038-maytag-248562-washer-dryer-terminal.html
http://www.pwslaundry.com/i-10412833-maytag-211881-washer-dryer-grommet-cord-part-not-used-gas-models-only.html

[N L1100

Gas Models Only

20 212716 Bumper, Lid

22 213720 Spring, Lid Switch

26 214805 Pin For Unbalance Lever

28 214884

N
=
(o8]
[
(=]
=

Screw, No.6-20 X 1-1/8 Inch

30 214987 Moisture Barrier For Switch

32 301548 Clamp, Ground Wire

34 Y312140 Wire Connector

36 410635 Fastener

38 911267 Screw, Pump Cover



http://www.pwslaundry.com/i-10409550-maytag-212716-washer-dryer-bumper-lid.html
http://www.pwslaundry.com/i-10406248-maytag-213718-washer-plunger-lid-switch.html
http://www.pwslaundry.com/i-10406336-maytag-213720-washer-spring-lid-switch.html
http://www.pwslaundry.com/i-10401969-maytag-214804-washer-unbalance-lever.html
http://www.pwslaundry.com/i-10401917-maytag-214805-washer-pin-for-unbalance-lever.html
http://www.pwslaundry.com/i-10409599-maytag-213501-washer-dryer-screw-no-6-20-x-1-1-8-inch.html
http://www.pwslaundry.com/i-10401913-maytag-214898-washer-cover-for-lid-switch.html
http://www.pwslaundry.com/i-10401915-maytag-214987-washer-moisture-barrier-for-switch.html
http://www.pwslaundry.com/i-10409598-maytag-215075-washer-dryer-fastener-control-panel-to-console.html
http://www.pwslaundry.com/i-10412878-maytag-301548-washer-dryer-clamp-ground-wire.html
http://www.pwslaundry.com/i-10412631-maytag-311155-washer-dryer-ground-wire-and-clamp.html
http://www.pwslaundry.com/i-10409613-maytag-y312140-washer-dryer-wire-connector.html
http://www.pwslaundry.com/i-10412845-maytag-y313559-washer-dryer-screw.html
http://www.pwslaundry.com/i-10401916-maytag-410635-washer-fastener.html
http://www.pwslaundry.com/i-10409744-maytag-25-7809-washer-dryer-screw-no-6-20-1-2-flthd-torx.html
http://www.pwslaundry.com/i-10401914-maytag-911267-washer-screw-pump-cover.html

	Maytag LA210S 06 - TOP COVER\CONSOLE\LID SWITCH

